semester | ' Honors Geometry Name:

Review Worksheet #2 Mr. Ferwerda

Chapter 2 _(part 2)

Part D: Write complete proofs.

i.  Given: F is the midpoint of EG £ P S ’
(G is the midpoint of FH
Prove: FF = GH
Conclusions Justifications

2. Given: 2/ m

L1 = 24
Prove: 21 = 22
Conclusions Justifications
1/2 3
3. Given: £/ m ml o 12 /11 10
Prove: L2 = /8
/ 1 2l
onclusions

Justifications
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Chapter 3

Part A

Identify each staternent as true or false.

1. Every point on an éngie bisector in a triangle is equally distant from the sides of the angle.
The circumcenter of a triangle is the center of the circle inscribed in the triangle.

In a right triangle the orthocenter is located at the vertex of the right angie.

A rhombus is a parallelogram with all of its sides equal in length.

oo W N

If 2 point is equally distant from the endpoints of a segment, then it must be the midpoint of
the segment.

The shortest distance from a point to a line is the distance measured along the perpendicular from the
point to the line.

7. Itis possible to construct an angle of 15° using a compass and a straightedge.
8. A geometric construction uses a compass and straightedge.
9. The centroid is equally distant from all three sides of a triangle.

10. The centroid of a triangle divides each median into two parts, so that the shorter part 15 one third the
larger part. )

Part B
Perform the following constructions on Hgores on Yie rex i~ Fage .
1. Construct the circumscribed circle for AABC.
Construct the median I7in AGHI.
Construct the altitude E‘E inADEF.
; —3 . 3 . i
Construct a line PT perpendicular to AB through point P (¥ not on AB).
Construct an angle of 30° at point M.
Construct the incenter of AJKL.

N e e

Construct A NOP given the segment and angles below.

N <
: N
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Chapter 4 (part 1)

Part A

Identify each statement as true or false.
I, A triangle with zll the sides equal in measure is obtuse.

2. If the coordinates of the segment with endpoints (4, -3) and (-1, 2) are reversed, the slope does not
change.

(=]

The capi:tal letters CPCTC are an abbreviation for the phrase: “corresponding parts of congruent
triangles are congruent.”

The sum of the measures of the three angles of an acute triangle is less than the sum of the measures of
the three angles of an obtuse triangle.

. The line through points (2, -5} and (3, -2} is parallel to the iine y = 3x + 7.
. The incenter of a triangle is the point of intersection of the three medians.

5

&

7. The orthocenter of a triangle is the point of intersection of the three medians.

8. The centroid of a triangle is the point of intersection of the three perpendicular bisectors.
9

if a triangle has two angles of equal measure, then the third angle 1s obtuse.

- 10. If the base angles of an isosceles triangle each measure 37°, then the vertex angle has a measure of 106°.
Part B

From the information given, determine which triangles, if any, are congruent. State the congruence

conjecture that supports the congruence statement. If the triangles cannot be shown to be congruent from the
mformation given, write “Cannot be determined.”

. ASIK=A-7- 2. AJAR=A-7- 3. ATAL=A-7-
Why? Why? Why?
3 ! o] J A L A %G
m % T% !
K A T g D
4. AKJT=A - 5 ATIK=A-7- 6. AITR= A7
Why? Why? Why?
K c T - 0 : E
> L ]
J L
! K
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Peart T4

Find the measure of each lettered angle in the figure below.
ll 1 lz and lg i 14

1. a=-1-
2. b=-7-
1, c=-~7—
4, d=-1-
5. e=-1-
& f=-1-
7. g=-T-
8. h=-1-
Part Cd
Find the measure of each letiered angle in the figure below.
i. a=-1-
2. b=-7-
3. c=-7-
4, d=-7-
5, e=-1-
6, f=-1—-
7. g=-7-
8. h=-7-
Part D
Provide each missing reason or statement in the proof.
Given: D= LE c
CD=CE
Show: AE= BD
Flow-chart Proof: y S
1 —*- \ A B
2
3 - .};.._.,,. L e e
PR / 8, P 0, —7—
G







